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Problems #64-69: Given f(x) =¥ -1and g(x) = 2x -3, find each of

the following.
64. (f+g)0)
65. (fg)(x)

66. f(3) +g(-1)
67. (fog)2)

68. (fog)(x)
69. State the Vertical Line Test. What is the Vertical Line Test used
for?

70. State the Horizontal Line Test. What is the Horizontal Line Test
used for?

Problems #71-73: For each graph, apply the appropriate test and

determine if the graph represents a function and, if it does represent
a function, whether the function has an inverse function.
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74. Given f(x)= , find the inverse function f‘1(x). = 3
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Problems #75-79: Use the given graph to answer the questions.

54+

?/77 ? At
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y o I

T

1 z

__(O’,-ﬂ W\;v\iﬂ\vm ‘\% \‘,: _\’

75. What is the smallest y-value on the graph (the minimum value for

N==\

the function)?

76. What is the x-coordinate where the smallest y-value occurs? "X = o
77. What are the x-intercepts? (Give your answer in ordered pair

form).  *10) a (|
78. Ifx=0,whatisy? -\
79. If f(x) = 3, what is x?

O)

-
—

= o = 2

Problems #80-89: Graph the given functions. Set up a table of
coordinates. Find x-intercepts and y-intercepts, and any other
important features of the graph. For a parabola, find the vertex. For
an exponential function, find the horizontal asymptote.

80. f(x)=2(x-1) +3

81. f(x )——2(x+2)2—1
82. f(x)=x* -6x+5
83. f(x) = —x" + 8x - 17
84. f(x)=2"
85. ()=2x+3
86. f(x) =2 -1
87. f(x)=log, x
88. f(x) =log,

3
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84. exponential graph, horizontal asymptote is the negative x-axis
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85. exponential graph, shift y = 2* three units to the left, horizontal
axymptote is the negative x-axis. ‘C()( - **3

HdY \“tau*é
—t——————— — i &\du’U

y=o
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84. exponential graph, horizontal asymptote is the negative x-axis

-1

]

—_
N|= oK

&

- O

85. exponential graph, shift y = 2* three units to the left, horizontal
axymptote is the negative x-axis. ‘C()( - **3
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86. exponential graph, shift y = 2* one unit down, horizontal
asymptote moves down one unit also to the horizontal line y = -1.
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87. logarithmic graph, vertical asymptote is negative y-axis
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88. logarithmic graph, vertical asymptote is positive y-axis
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89. graph of square root function, domain is x > -3.
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